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Examples in this notebook use the methods for parameter estimation and transforms provided by
the Mathematica system

A sample signal

��������� ������[�_] �=

� * ���[� * �� * �] + ���[-� * �] * ���[�� * �� * �] - ����[� - ���] - ����[���� - �]

��������� ����[������[�]� {�� �� �}]
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A noised version of the signal (white noise with σ=0.25)

��������� � = �����[������[� / ����]� {�� �� ����}]�

� = ������[�]�

�� = ������������������[��� ��]�

����������[]�

����� = �����[������[��]� {�� �� �}]�

σ = ���

� = � + σ * ������

��������[�� ������ → ����]
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��������� ����[� - �� �]

��������� �������



����������������������������

��������� ������� = ������������������������[�� �����������������[]� �]�

��������� �������[����������]
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Computing the MAD on the first detail component

��������� σ��� = ���������������[{�} /��������[{�}]]  ������

��������� ��������

Universal parameter  based on MAD

��������� λ���� = σ���
√

(� ���[������[�]])

��������� �������

Sure threshold based on MAD

��������� �������������[�_����� σ_] �=

�����{� = ������[�]� ��� �� ��}�

�� = �������

� = ����������[��] + �����[� - �� �� -�] � σ�� + ���

�� = �����[��������[�]]�

��〚��〛 

��������� λ���� = �������������[�����[�������[{�}� ��������]]� σ���]

��������� ������

Various types of applying thresholding 

��������� ��� = ����������������[�������� {������� λ����}]�

��� = ����������������[�������� {������� λ����}]�

��� = ����������������[�������� {������� λ����}]�

��� = ����������������[�������� {������� λ����}]�

��� = ����������������[�������� �����������]�

��� = ����������������[�������� ������]�
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Inverse transforms after thresholding

��������� ���� = �����������������������[���]�

���� = �����������������������[���]�

���� = �����������������������[���]�

���� = �����������������������[���]�

���� = �����������������������[���]�

���� = �����������������������[���]�

��������� ������������[{�� ����}� ��������� → ���� ��������� → {������ ���}]

���������

200 400 600 800 1000

-8

-6

-4

-2

2

4

��������� ������������[{�� ����}� ��������� → ���� ��������� → {������ ���}]

���������

200 400 600 800 1000

-8

-6

-4

-2

2

4

denoising-4-b.nb  ���3



��������� ������������[{�� ����}� ��������� → ���� ��������� → {������ ���}]
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��������� ������������[{�� ����}� ��������� → ���� ��������� → {������ ���}]
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��������� ������������[{�� ����}� ��������� → ���� ��������� → {������ ���}]
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��������� ������������[{�� ����}� ��������� → ���� ��������� → {������ ���}]
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��������� ���[����[# - �� �] �� {����� ����� ����� ����� ����� ����}]

��������� {�������� �������� �������� �������� �������� �������}

��������������������

��������� ������� = ������������������������[�� �����������[]� �]�

��������� �������[����������]

���������
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��������� λ���� = �������������[�����[�������[{�}� ��������]]� σ���]

��������� ��������

��������� ��� = ����������������[�������� �����������]�

��������� ���� = �����������������������[���]�
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��������� ������������[{�� ����}� ��������� → ���� ��������� → {������ ���}]
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��������� ��� = ����������������[�������� ������]�

��������� ���� = �����������������������[���]�

��������� ����[���� - �� �]
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��������������������������

��������� ������� = ������������������������[�� ��������������[�]]�

��������� λ���� = �������������[�����[�������[{�}� ��������]]� σ���]

��������� �������

��������� ��� = ����������������[�������� �����������]�

��������� ���� = �����������������������[���]�

��������� ����[���� - �� �]

��������� �������

��������� ������� = ������������������������[�� ��������������[�]]�

��������� λ���� = �������������[�����[�������[{�}� ��������]]� σ���]

��������� �������

6 ���  denoising-4-b.nb



��������� ���� = ����������������[�������� ������]�

��������� ����� = �����������������������[����]�

��������� ����[����� - �� �]

��������� �������

��������� ������������[{�� �����}� ��������� → ���� ��������� → {������ ���}]
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��������� �������� = ������������������������[�� �������������������������[�� �]� �]�

��������� ��������[����������]
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��������� λ���� = �������������[�����[��������[{�}� ��������]]� σ���]
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��������� ����� = �����������������������[����]�

��������� ����[����� - �� �]

��������� �������

��������� ������������[{�� �����}� ��������� → ���� ��������� → {������ ���}]
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��������� ������������[

���������[

���[

������������[{�[[��� �� ���]]� #[[��� �� ���]]}] �� {����� ����� ����� �����

����� ����� ����� ����� ����� ������ ������ �����}]� �]� ��������� → ����]
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��������� ��� = �����������[

� → {����� �����-�����}�

� → {����� �����-�����}�

� → {����� �����-�����}�

� → {����� �����-�����}�

� → {����� �����������}�

� → {����� ������}�

� → {������� ������������ �}�

� → {������� ������� �}�

� → {������ ������������ �}�

�� → {������ ������� �}�

�� → {�������� ������� �}�

�� → {�������� ������� �}]

��������� � → {��� ����-����}� � → {��� ����-����}� � → {��� ����-����}�

� → {��� ����-����}� � → {��� ���������}� � → {��� ����}�

� → {����� ���������� �}� � → {����� ����� �}� � → {���� ���������� �}�

�� → {���� ����� �}� �� → {������ ����� �}� �� → {������ ����� �}
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��������� �����[{����� <> ��������[�]� ����[������������[����� <> ��������[�]] - �� �]�

� /� ���}� {�� �� ��}] // ���������
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